
SAP ABAP table VZZPARO {Partner / Role / Object relationship}

VZZPARO

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SANLF [NUMC (3)]

RKEY1 [CHAR (13)]

RKEY2 [CHAR (8)]

RKEY3 [CHAR (8)]

PARTNR [CHAR (10)]

SROLLE [NUMC (3)]

KUNNR [CHAR (10)]

ADRTYP [CHAR (2)]

MABER [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 VZZPARO-KUNNR = KNA1-KUNNR 0..N

1

T000

MANDT [CLNT (3)] VZZPARO-MANDT = T000-MANDT 1

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VZZPARO-BUKRS = T001-BUKRS 
11

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]

 VZZPARO-MABER = T047M-MABER 

0..N

1

TZV10

MANDT [CLNT (3)]

ADRTYP [CHAR (2)]

 VZZPARO-ADRTYP = TZV10-ADRTYP 

0..N

1


